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1- The questionnaire was intended to -—------- information on eating habits.
1) retain 2) survey 3) elicat 4) presume
2- The prime minister has called on the public to -—------- behind the government,
1) rally 2) denote 3) pursue 4) underlie
3- College life opened up a whole —-------- of new experiences.
1) core 2) gamut 3) exposure 4) appreciation
- The discovery of the new planet gave fresh -----==--- to research on life in outer space.
1) status 2) scheme 3) impetus 4) domain
5- It was ---------- of me to forget to give you the message.
1) pitfall 2) rermss 3) obstacle 4) ihibition

6- The number of old German cars still on the road ======---- to the excellence of their
manufacture.

1) traces 2) orients 3) restores 4) attests
7- Age alone will not -----—---- them from getting admission to this university.
1) react 2} distort 3) conduct 4} preclude
8- New technology, the main -—--—-- of the 1980s, has been a mixed blessing.
1) legacy 2) surplus 3) expansion 4) circumstance
9. I'm sure my university days appear happier in ---------- than they actually were at the
time.
1) procedure 2) proportion 3) retrospect 4) approximation
10- Even a(n) =-=-see==- glance at the figures will tell you that sales are down.
1) cursory 2) implicit 3) marginal 4) sustainable

Directions: Read the following passage and decide which choice (1), (2), (3), or |

{4} best fits eac.& space, Then mark the correct choice on your answer sheet.
- S— e ——— —
A map is a]wa}rs smaller than the real world which it represents. The difference (11) ---------
between the map and the Earth’s surface (12) -------—- a scale ratio. For example, the scale
ratio .« 1:50,000 states that one unit of measurement on the map is (13) -—-uemx fifty thousand
such units on the ground. Therefore, one centimeter on the map amounts to 50,000 centimeters
(500 meters) (14) -——--—-- the ground.
A map at a large scale, (13) -——— 1:10,000, will show a small area of the Earth's surface
in considerable detail. A small-scale map, will show a much larger area, but in much less
detail.
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11- 1) in size 2) as size 3) from s1zes 4) for sizes
12- 1) expresses 2) is expressing
3) 15 expressed by 4) will be expressed by
13- 1) equally 10 2) equally with 3) equal with 4) equal to
14-1)in 2} on 3) over 4) under
15-1) similar 2) such as 3) being like 4) the same as

| PART C. Reading Comprehension

| Directions: Read the following three passages and answer the questions by
| choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
| your answer sheet.

Passage 1

Flat plate collectors are typically flat, thin boxes with a transparent cover that are
mounted on rooftops facing the Sun. The Sun heats a blackened metal plate inside the
box, called an absorber plate, that in turn heats fluid (air or water) running through
tubes within the collector. The energy transferred to the carrier fluid, divided by the total
solar energy that falls on the collector, is called the collector efficiency. Flat plate
collectors are typically capable of heating carrier fluids up to 82°C (180°F). Their
efficiency in making use of the available energy varies between 40 and 80 percent,
depending on the type of collector,

These collectors are used for water and space heating. Homes employ collectors fixed
in place on roofs. In the Northern Hemisphere, they are oriented to face true south (%
20°); in the Southern Hemisphere, they are oriented to face north. For year-round
applications such as providing hot water, they are filted relative to the horizontal at an
angle equal to the latitude £ 15°,

In addition to the flat plate collectors, typical hot-water and space heating systems
include circulating pumps, temperature sensors, automatic controllers to activate the
circulating pump, and a storage device. Either air or a liquid (water or a water-antifreeze
mixture) can be used as the fluid in the solar heating system. A rock bed or a well-
insulated water storage tank typically serves as an energy storage medium.

16. The first sentence of the passage is a kind of ---—--vessz-- ;

1) classification 2) function description 3) exposition 4) definition
17. Absorber plates are ----------- .

1) dark in color 2) contain air or water

3) run through some tubes . 4) heat a metal plate

18. According to the passage, the collector efficiency --—----—-- :
1) depends on the total solar energy that falls on the carrier fluid
2) may vary from collector to collector

3) is far off the standard level due to fluctuations

4) may reach a minimum of 80 percent
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19. Paragraph 2 provides information -—-—-—-------- .

1} that can be used to boost the collector efficiency

2) about the collector type suited to each region

3) to prove why these collectors are more suitable in certain areas

4) about the different functions they fulfill in different parts of the world

20. The function of all of the following is mentioned EXCEPT ------- ==,

1) water storage tank 2) a bed rock
3) circulating pumps 4) automatic controllers
Passage 2

Removing just one species from am ecosystem damages the flow of energy of that
system. For instance, in the late 19th and early 20th centuries, sea otters were hunted to
near extinction inm many kelp forests off the coast of the Pacific Noxthwest of the United
States and western Canada, causing the entire ecosystem to suffer. Otters eat sea urchins,
small, spiny organisms that share their habitat. When the otters vanished, the sea urchin
population exploded and started to destroy the vast beds of kelp. Without the kelp, other
species that lived in the ecosystem, including many species of fish and snails and other
invertebrates, began to decline in number. Efforts to restore sea otter populations
brought the kelp communities back to near normal in the late 20th century.

Measuring ecological diversity is difficalt becanse each of the Earth’s ecosystems
merges into the ecosystems around it. A lake, for example, might have a distinct
shoreline, but the plants fringing its edges are quite different from the aquatic plants in
the middle of the lake or the trees and shrubs surrounding the lake. Beavers may live in
the lake, but they construct dams from trees that grow in adjacent ecosystems. Nutrients
flow into the lake via streams and rivers beyond the lake’s ecosystem.

21. Paragraph 1 provides an example —-—s---om-—,

1) showing how lack of knowledge may have devastating results
2) proving why humans need to hamess their avarice

3) demonstrating a chain reaction

4) highlighting the significance of some animal species

22. The word “vanished™ in line 5 is closest in meaning 1o --------- "
1) retreated 2) weakened 3) declined 4) disappeared
23. It can be inferred that the problem outlined in paragraph 1 -------—---- .

1) has incurred irrevocable damage

2) has already been reined in

3) obliterated certain kelp communities

4) was detected in the late 19th and early 20th centuries

24. The waord “fringing™ in line 12 is closest in meaning to ------— ===,

1) decorating 2) occupying 3) lining 4) forming
25. Which of the following represents the organization of the information in paragraph 27
1) Am example is brought in to further support the thesis of paragraph 1.

2) An assertion is made and an illustration is introduced to bolster it.

3) A general statement 1s made and then modified through an actual example.
4) The main point of paragraph 1 is further supported by analogy.
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Passage 3

Solid wastes are unwanted solid materials such as garbage, paper, plastics and other
synthetic materials, metals, and wood. Billions of tons of solid waste are thrown out
annually. The United States alone produces about 200 million metric tons of municipal
solid waste each year. A typical American generates an average of 2 kg (4 1b) of selid
waste each day. Cities in economically developed countries produce far more solid waste
per capita than those in developing countries. Moreover, waste from developed countries
typically contains a high percentage of synthetic materials that take longer to decompose
than the primarily biodegradable waste materials of developing countries.

Areas where wastes are buried, called landfills, are the cheapest and most common
disposal method for solid wastes worldwide. But landfills quickly become overfilled and
may contaminate air, soil, and water, Incineration, or burning, of waste reduces the
volume of solid waste but produces dense ashen wastes (some of which become airborne)
that often contain dangerous concentrations of hazardous materials such as heavy metals
and toxic compounds. Composting, using natural biological processes to speed the
decomposition of organic wastes, is an effective sirategy for dealing with organic garbage
and produces a material that can be used as a natural fertilizer. Recycling, extracting and
reusing certain waste materials, has become an important part of municipal solid waste
strategies in developed countries. According to the EPA, more than one-fourth of the
municipal solid waste produced in the United States is now recycled or composted.
Recycling also plays a significant, informal role in solid waste management for many
Asian countries, such as India, where organized waste-pickers comb streets and dumps
for items such as plastics, which they use or resell.

26. The word “those” in line 6 refers to --=--===--- .

1) typical person 2) country 3) waste 4) city

27. Which of the following cannot be understood from paragraph 17

1) The typical American does not seem to beé producing so much solid waste.

2} It is the cities that probably produce the most solid waste in the world.

3) Developed countries pose a greater problem than developing countries in generating solid waste.
4) Biodegradable waste materials are less detrimental than synthetic waste.

28. Which of the following is NOT defined in paragraph 27

1) Landfills 2) Dense ashen wastes

3) Incineration 4) Composting

29, It can be understood from the passage that organized waste-pickers -------- ;
1) are hired by governmenis

2) should be concerned about the environment

3) seem to be destitute

4) exacerbate the waste problem

30. Which of the following questions is NOT answered in the passage?

1} Why are biodegradable waste materials less dangerous than synthetic materials?
2) What measores have countries taken to get rid of their wastes?

3) Why are landfills not a viable solution to the waste problem?

4) How much of the municipal solid waste produced in Asian countries is recycled?
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